Jacoby 2NT

Convention Difficulty: Improvers

It is often difficult to bid slams if both partners are better than minimum for bidding game but not significantly. A bid of 2NT after partner opened a major shows a hand strong enough to bid game in the major. The purpose of the bid is to provide space to look for a slam. Look at these hands:

( A J 5 3 2

( K 9 8 7 4

( A 6 5 4 2

( 8 3

( 4


( A 6 5 2

( A 4


( K 6

West would open 1( to which East is strong enough to respond 4(. West is better than minimum, with 13 points and a good distribution, but is not strong enough to look for a slam so would be forced to pass. 

Playing Jacoby 2NT, East would respond 2NT to West's opening bid. West would bid 3(, which shows a singleton or void in diamonds. East has an excellent diamond holding opposite this, so would bid Blackwood and arrive in 6(, which makes with just 23 points.

Bids and Responses
 
If partner opens 1 of a major, bidding 2NT shows a hand strong enough to bid 4 straight away. Bidding 2NT asks opener to describe his hand better. His responses are (after a 1( bid)
	3(/3(/3(
3( 
3NT
4(/4(/4( 
4(  
	Singleton or void in that suit
Very strong hand, no singleton or void
Strong hand, no singleton or void
5-card suits card suits
Minimum opening, no singleton or void 


As you can see 3(/3NT/4( show different strengths of hands but all deny a singleton or void. You bid less with more, allowing more room to investigate a slam.

After any of these bids, a new suit by responder is a cue bid, showing an ace or void, asking partner to help investigate a slam.
Notes

Since 2NT is bid with a hand strong enough for game in the major, the bid raising to the 4-level is not needed. This is used to show a weak, pre-emptive hand (no more than 9 points), with excellent trump support. Splinter bids are also played.
Note: this Jacoby 2NT response takes the place of the 3NT “pudding raise” response. It is recommended. Regular partnerships may wish to assign a new meaning to the 3NT response.








